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2 PREVIEW

2 PREVIEW Words A/ B/ C Answers

Alab,cde
2b,c d
3b,c,d
4¢,d

Blab,e
2¢d

Cli
2¢c
3e
4g
5b
6a
7 h
8d
9f

2 PREVIEW Language A/B/C/D/E Answers
A Yes

B ‘Everyone’, ‘Global brands’

C All our food is produced by local farmers.

D Sentences 3 & 4

E Yes

2 PREVIEW Ideas A/ B/ C

A Hypermarket

B Yes, they are true.

C Students’ own answers

C 1 are sold

2 second-hand clothes
3 global warming
4 are produced

D 1 Text 1: “The advantage is that it sells everything

and it’s cheap.’
Text 2: ‘Supermarket food often travels long
distances and is very bad for the environment.’
Text 3: “The advantage is that we save money
and help the environment.’
Text 4: ‘It’s a disadvantage that some of the
local shops have closed since the supermarket
arrived a few years ago.’
Text 5: “The disadvantage is the cost — they’re
more expensive than the supermarket.’
2 Because it supports the local shops, because
supermarket food travels long distances,
and it helps the environment, and in the
markets the clothes are cheaper and the
food is delicious.
3 Others prefer to go to the supermarkets because
it saves time and to the hypermarkets because
they sell everything and it’s cheap.

3 READING CD 1(Blue) track 19, page 5 SB
3 READINGA/B/C/D Answers

Ala
2¢
3c
4b
5¢
B 1 leather goods
2 shop online
3 a designer
4 I'm not bothered!
5 regional produce

LISTENIN CD 1(Blue) track 20, page 6 SB

SLISTENINA/B/C/D Answers
A1ld

=~

2c

3f

4b

5a

6e
(@4(®b)2()1()3
1 drinks cans

2 trash, know

3 everything

4 energy

5 use

6 precious

7 toy aeroplane, sun hat, shoes
8 developing countries
9 recycle

10 money

1 The toy aeroplane is made out of drinks cans.
2 In nature nothing is wasted.
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3 In the West, products are used for a short time.
4 A lot of rubbish is thrown away.

E Students’ own answers

8 FCONOMICS in English
8 ECONOMICS in English
A 1, 2 Students’ own answers
B 1 Brazil, Russia, India and China
2 China
3 USA, Japan, Germany, Britain, France and Italy
C 1 Films (e) are made in India.
2 Computers (c) are manufactured in China.
3 Gas (f) is produced in Russia.
4 QOil (b) is found in Russia.
5 Beef cattle (d) are raised in Brazil.
6 Trees (a) are cut down in Brazil.
7 Textiles (h) are exported from China/India.
8 Pollution (g) is created in China/India.

Page 7SB

Answers

WORKBOOK answers Pages 2-3 WB

1 language: should /present simple passive /
due to, because of

A 1 You should get fish from that shop.
2 Should I buy this handbag?
3 That factory should not create so much
pollution.
4 Do you think I should leave before the
market closes?
5 I think you should take that to the recycling
centre.

B 1 Second-hand clothes are sold here.
2 Souvenirs are bought by tourists.
3 Cheap computers are made by Chinese
companies.
4 Dairy produce is eaten by many people.
5 The exhibition is described in the article.

C Due to and because of are both correct in all
sentences.
1 ...because of (d) the price.
2 Due to (c) the weather...

3 ...due o (a) its huge population.
4 ...because of (b) you.

2 Use of English
A 11 went to the farm shop to buy some
cheese.
2 Did you like the exhibition?
3 It’s a fact / The fact is that China’s economy is
growing very fast.
4 It’s an advantage that they use recycled
materials.
5 I don't mind supermarkets.
B 1 since
2 century
3 most
4 supply
5 are
6 produced
7 world
8 of
9 due

10 national

Students’ own answers

4 Connections

A agriculture — farming

business — company
products — goods
manufacturing - industry

B 1 Manufacturing / Industry

2 business / company

3 industry / agriculture

4 goods / products

5 company / business

6 products / goods

7 agriculture / industry

8 agriculture / farming

C Students’ own answers
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